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Two numbers in this sentence have been corrected since the first edition of the printed report. The sentence formerly read "Projections with the Subregional Timber Supply model show that, despite a 60 percent increase in the area of pine plantations, the South will experience a 1 percent decline in private timberland area as other forest types shrink." The correct amounts are 67 percent and 2 percent, respectively.
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A number in this sentence has been corrected since 
the first edition of the printed report. The sentence formerly read "The area of pine plantations is forecast to increase by about 60 percent by 2040..." The correct amount is 67 percent.
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The number in this sentence has been corrected since the first edition of the printed report. The sentence formerly read "This loss, amounting to 1 percent from 1995 to 2040..." The correct amount is 2 percent.












